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y describe the measurement of interception?

escribe the precipitation methods based on the adiabatic cooling process

d the change of section is sudden. The difference in waler levels in two
jits is found to be 30m. Consider the all losses that oceur in the pipe. ([rctional
cient of pipe is 0.01)

i, List oul the losses that happen during this flow through the pipe.

ii. Find out the velocities in two pipes.

iii. Determine the Lotal loss and Now rate through the pipe.

the Bernoulli's equation for the flow of incompressible, frictionless fuid

e gradually varies from 15cm in diameter at A to 7.5cm at B. the point A is
ve the datum While the point B is 3m above the datum. The velocity at A is
etermine the pressure al B, if’ the pressure at A is 0000k gm™

(5] ecific weight of water is ]UUOkgm']}



4) (@) What is the difference between liquid flow through close and open pipes?
(b) A rectangular channel having the most efficient section {economical) carrie
water per second. If the velocity of the water is 2m/sec, determine the lollowil
most economical rectangular section. (Given Chezy’s constant C = 60)

(i) The area of Mow.

(i) The depth of channel
(iii)  The breadth (width) of channel
(iv)  The hydraulic mear depth

(v)  The slope of the bed,




